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Questionl:-First aid of the amputed finger

ca@lE®eas alleallon lnaw g

A:-place the finger directly in contact with ice

6agil@d ema@lg alle@d aige

B:-place the finger directly in normal saline
MLIWIEEM g:ﬂamg@@m’lmﬁ alle@ emalg Qs

C:-place the finger directly in normal saline pack surrounded by ice cubes
Oag)my’ ﬁéﬁyﬁ@o@ 2JQOa)s MLIWIREM MEHEIM S alle@ eMAEls I ®:

D:-place the finger directly in ice cube pack surrounded by normal saline
MLIWIEEM qus»mgg@momﬁ 2JQ0ajs Oagany &ésnr @@ emdls’ allowd s

Correct Answer:- Option-C
Question2:-Symbol of first aid is
Q0D EQHYOS aflamo

A:-Red cross
GO GO

B:-Green cross
B e@omy

C:-Red cross in white background

OHAUSS alURUOMRICTIG HOW BT

D:-White cross on green background

alg] alURDOmRIOBIT ©eIg @M’
Correct Answer:- Option-D

Question3:-Vaccination can prevent the following diseases except
@oeemMAIicd 85105HQEs 6EINERUS AEIEMUMD galo S0

A:-TB
sl.enil.
B:-Measles
@60l
C:-Tetanus
G)SQ(T)(T\T
D:-Hep.C
&anal. il
Correct Answer:- Option-D

Question4:-What is the first aid for a person bitten by wasp?
algfl &Sl BEOBMBES INBWEYH ag)moem?

A:-Suck poison from the site
©emudlad @l aflate cuelle qjgans

B:-Remove the sting embedded in the skin

21BEDIE3 AGHEOD HBOMT Wlevo 6.21Qd:

C:-Incise the wound to remove poison on blood
@BMOIeRI Qllatte MlENe ©.21Q0M QAlal candleas:
D:-Apply turmeric to the wound

g0lall@d aeomud ajoge

Correct Answer:- Option-B
Question5:-Rabies spread via
GalQfla6nIoWw ald@3m Qs

A:-contact with saliva of infected animal
6RO, NIOWlg| guaviled eddlaacgses cumides.
B:-drinking milk of infected animal

6EIW. ENIOWlg) GVOTIEM 0@ G:Slens:

C:-drinking water where infected animal found as dead
&:SloAISs SENIGIE 60w WSl ge ATDEISEBM@OW] d:e6mEoD
D:-touching the infected animal

6EIW. ENIOWlg| GNETD MBUBlERE:
Correct Answer:- Option-A

Question6:-Scrub typhus is caused by

ayenl &eSanmy’ OENRIBMDIM EBI6Mo
A:-Fly
DV
B:-Mosquito
OBIDS
C:-Bat
QIQO@3
D:-Mite
(@Josleud
Correct Answer:- Option-D
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PROVISIONAL ANSWER KEY

086 - First Aid Personal Hygiene and General Sanitation

Question7:-The disease and infections communicable to man from vertebrate animal is known as

BCR@HESET WM AMAUDIERIES ald:@M EEINC GREMNDENIIWQe GRGIWEFIM@

A:-endemic
ag)Bowalss’
B:-epidemic
ald@ajauoul
C:-zoonosis
agemomilony’
D:-none of the above
2HE@D AlOOMAIOWITBAL)
Correct Answer:- Option-C
Question8:-ORS is used to prevent
@swom ORS galeoslenao
A:-Dehydration
mdmezelle:eeme
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B:-Fever
alm]
C:-Vomiting
203G
D:-Stomach pain
Q@AQEAIBM
Correct Answer:- Option-A
Question9:-RNTCP is a programme for the control of
lea@smorimess 8@ caowoacery RNTCP
A:-Leprosy
cemgcraomo
B:-TB
sl.enil.
C:-AIDS
ag)ousmy’
D:-Cancer
HH0MaTVA
Correct Answer:- Option-B

Question10:-The first aid when you suspect low blood sugar in a diabetic patient is

http://192.168.1.6/dept/modules/marklist/answe...

@J6200eRIUIIBEIE ESOOTIOL! alERUTEYES @OSAL HOAVEEMTY TUUOWIEBEMIIY MBS JINALEYH

A:-1V glucose
v %cﬁ)omi
B:-Oral glucose
600@ (‘{)chom)“
C:-Chest compression
OMEDL BrolaJaHM
D:-Give water to drink
&SI OAUSBo OBIFEBS>
Correct Answer:- Option-B

Questionll:-Intravenous drug abusers are at a very high risk of
HMSIHOAUNTY AR ERAGT GRBAIEINe s).«uzg;«nmdscesi QUBOE DB BRAIBSTVIWIOQYSS CRINo

A:-Hep.B
©6a0al. enil

B:-HIV
af)af.6ag).all

C:-Both of the above
QBEB alO6OD BENZo

D:-None of the above
AHEIB alOFDAIOWITRREY

Correct Answer:- Option-C
Question12:-Scabies is a disease of
62100 B@ BEINDOQYMNOY

A:-Poor personnel hygiene
GROUAIW QBN Wl

B:-Malnutrition
GaloaHB:0aNIPEBOQN

C:-Hereditary nature
ald@MIGy MVIRIQI

D:-None of the above
QBT Al0ATHAIOQOMoRS)

Correct Answer:- Option-A
Question13:-Diabetes is a disease classified under
@JC2aD EEIN. Mo BH@a]ldleRm@y

A:-Genetic disease
BOIOS I

B:-Communicable disease
VOB BRI

C:-Life style disease
eoloeswoal cIM.

D:-None of the above
HE@ A0 BIPAG

Correct Answer:- Option-C

Question14:-Primary bacterial indicator for water contamination is

mepeldleesmomlngs @ondle moglcle myalde
A:-Coliform organism
€B08En000 B30BUOMIMVo
B:-Chlostridium perfringens
egromlalile ealdaglovadmy
C:-Cholera bacteria
65980 RISl
D:-None of the above
QS Al0FOMAIOWIMRRGY
Correct Answer:- Option-A

Question15:-Minimum safe distance between source of water supply and latrine
melalomoem GAVIOYo SETYo ©2BI88 Qe GO MYESU® @Gl

A:-10 M
10 ago
B:-15 M
15 ago
C:-20 M
20 ago
D:-25 M
25 ago
Correct Answer:- Option-B
Question16:-Germ theory of disease put forwarded by
EEINOODERClges enis MIlRLIMM. FEMIS Alajey
A:-Louis Pasteur
@y’ alomaid
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B:-Robert Koch
€006NIAS 0o’
C:-Albert Cinstein
@R@3snids’ miladmdlad
D:-None of the above
QG AlOFOMAIOWIMRAG)
Correct Answer:- Option-A
Question17:-Not true about menstrual hygiene
@Rl @ald MnIMWly] ElepOm
A:-menstruating women can take part in normal daily activities
ARHRCOAUYSS TYBHUBE TVOWIEEM HOBMEIM JUBCMEEREIE aleB:gE0
B:-clean vagina atleast twice a day with soap and water
GM0ajo HAIBBOY 9aleouils] dlaimosiad eegmaIMe@Eslaje M QJOmIWIERE:
C:-it is better to avoid, sexual intercourse during menstruation
@RACHA MR ©6lUIle: MIMLEBITE oFBOAFMD BFIBMM@IET MY
D:-none of the above
QBHEIW AlOFTDAOWIMRRGY
Correct Answer:- Option-D
Question18:-Biomedical waste management and handling rules came to force in
1IR3 0Rlmy TVMPEEMQYe HOBEIL BalMGings mlwasg. Mlealdd amo
A:-1978
1978
B:-1988
1988
C:-1989
1989
D:-1998
1998
Correct Answer:- Option-D
Question19:-The expansion of the wash campaign
QA (@JaloEeMEOR Aflojelleeems
A:-Water, Sanitation and hygiene for all
OQISBo, @RYEROINYTVESBHEMo, Wall@lo agailal
B:-Water safety and hand hygiene practises
201 TYOSHQP 66D Walo! ATleg.
C:-Water supply and safe health campaigns
zeialmeemaje MYESHE2I® ERYEEI (JaldEEMEEBEE.
D:-Water, Safety and Hygiene
OQIBB., MYRSH, Waldlo
Correct Answer:- Option-A
Question20:-Swach Bharath Abhiyaan was officially launched on
VL] RIE® @REIWOIM BDERPUIG:200Q] @RYEEl4®
A:-2nd October 2014
2014 aeapoenad 2
B:-30th January 2014
2014 smmad 30
C:-5th June 2014
2014 mem 5
D:-15th August 2014
2014 sonqyld
Correct Answer:- Option-A
Question21:-Fracture commonly seen in children
BGleglod MOWIEEM@ITS ®IeMeajgam aslal
A:-Soft stick
GV qles’
B:-Green stick
b qfles’
C:-Dry stick
00w qyles’
D:-Rubber stick
o6y s
Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question22:-Most common cause of an epidemic of diarrhea, vomiting occuring within Ghrs of food poisoning with
QAQFIBE 0N aldB 2OUIQROS aBGQYe THOWOREMAIW B0E6Mo, EeuOlamowges GHRS @ ogslad av.ealesm aidd

A:-Clostridium infections
eggomyloilave @peMEnIOWw

B:-Staphylococcal infections
r;};sae)nnmemmﬂ,mﬂs)mﬁ @Mo6Mo6NnI0U

C:-Streptococcal infections
©MYalBRIEHILH3 @IOEMOENIOW

D:-Pneumococcal infections
mécmoc&bomm% @M6MM06NnIoW

Correct Answer:- Option-B
Question23:-According to Greek Mythology also is Goddess of Harvest
s aJeosmamaLEls] ®. allgeaigallen esaimwosy

A:-Hades
Alo®o80

B:-Poseidon
Galomileawosmm

C:-Aphrodite
@REEYIOHTVY

D:-Demeter
awldllod

Correct Answer:- Option-D
Question24:-Which is known as fear of enclosed spaces?
@RS DSERESRClYSs o afMA@enjsM@?

A:-Acrophobia
@REGIC006NI
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B:-Claustrophobia
GOCMYRIGanENI
C:-Agoraphobia
@PEUVNENJENIQ
D:-Ophidiophobia
adlcwlleoeanoenie
Correct Answer:- Option-B
Question25:-Which of the following is a cause for temporary hardness of water?
(a) Calcium bicarbonates
(b) Calcium sulphates
(c) Magnesium bicarbonates
(d) Magnesium sulphates
BaIoole® ®wdentals @ICINEIMN e aloQMAIRITS G@meN @d06m.?
(a) ®ommogp SomIBoBenIEEMOe:B
(b) ®omdavy MUEBE0QSB
(C) auPlayy ©OFIBBENIGEMQS1
(d) aurlasige qLUBEOQB:UB
A:-both (1) and (2)
(1), (2)
B:-both (1) and (3)
(1) - (3)
C:-both (1) and (4)
(1) 20 (4)
D:-all of the above
QHE@D AlOODAOWEIe
Correct Answer:- Option-B
Question26:-Advantages of ground water except
GV AeBRITTIOMR $00YRI0RERUY T BFlod:
A:-usually requires no treatment
MIWIEEM@IX] agd Clgaamdlden @ryaiwyie
B:-less subject to contamination than surface water
Daldlmel BrIeOmENoUd &oal muowym aelmle:eemamiay
C:-likely to be free from pathogenic agents
6EINGIGIBS Ml YBMBIBOM TVLOW®
D:-high in mineral content
o@Adm WOREHSOS DBBSEWo
Correct Answer:- Option-D
Question27:-The thickness of sand bed is purification of water in large scale is
arlloecmooilgss =eiwrble:esm. asm@omslelamo emaosm’
A:-1 metre
1 digd
B:-3 metre
3 diga
C:-5 metre
5 dgad
D:-4 metre
4 digad
Correct Answer:- Option-A
Question28:-Orthotolidine test is related to
&0deomoesogluwlad esTy a0l MIMWenslElesam
A:-Pasteurization of milk
a0ellem amalee0smLaHd
B:-Purification of water
maioolo welleeeme
C:-Adulteration of food
RAUEMOTIB DOWo EalBLHTD
D:-Food fortification
BHYY NILIOIGODIOCB
Correct Answer:- Option-B
Question29:-Hearing protection is indicated for all workers who are consistently exposed to noise louder than
el weyooilcd mudlendw] MuMIdE. oeIdEDM afgld E@IFIRNEIBWBER. WD Moo Myallaflaficlesme.
A:-60 dB
60 cwlenil
B:-70 dB
70 auflendl
C:-75 dB
75 auflend
D:-85 dB
85 awlendl
Correct Answer:- Option-D
Question30:-The guidelines for drinking water quality recommended by WHO related to following variables
I.  Accetability aspects
Il. Microbiological aspects
Ill. Chemical aspects
IV. Radiological aspects
WHO @alodwe 6aQM esloagsovied wemmleneorimoges mdpmldeguemsud omlyjogm cadlwmigegniw mmueqsidlasmm
l. arglgemiaid] aesanud
1. eeae@osnicwosslend alvesmrud
lll. esdlencd aiesmnud
IV. consflemogsdlenad aivesanud

A:-land Il
I,

B:-I, Il and I
1,1,

C:-I, 1, and IV
1AL, v

D:-1 only
| 20@o

Correct Answer:- Option-C
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Question31:-Waste water containing solid and liquid excreta and waste water which does not contain human excreta are respectively known as
aue, B allmudmerud ersarlo aalmesal, amay alrudmmud ersarligliepom aelmeeal agalal @OIGE. @RS

A:-Sewage and Sullage
oellmezaini @0elmyn

B:-Sludge and Scum
62181Qle MOQo

C:-Sewage and Sludge
oelmsegk ealglQe

D:-Sullage and Sludge
20eflmije ealglae

Correct Answer:- Option-A
Question32:-Herd immunity is
@RARE® @OleEoWEU agMOTd

A:-Community immunity
LRy JTIEEIWEURAH

B:-Personnel immunity
QBTIN® (@JOeEOWEUDA

C:-Immunity at home
allsl® (oleeowevonsd

D:-Immunity from isolation
8Q0ajs@I@ Mlmes @@leeowseunl

Correct Answer:- Option-A
Question33:-Night blindness related to deficiency of
60 S0QROQ FNINWOAISITT WULIML®

A:-Vit. K
allgodl@d e

B:-Vit. D
allgoaiad aul

C:-vit. A
allgoadllad ag)

D:-vit. C
allgoaiad @l

Correct Answer:- Option-C
Question34:-Open vial policy used in
69oj®B afle@ calnglndl Palc@oullesma

A:-Water purification
2e1aUl®:E6Mo

B:-Vaccination
Qglemaum

C:-Food storage
BBHEIN (MIoB@61Mo

D:-Biomedical waste management
enicInale@d aoallmy musmy@eme

Correct Answer:- Option-B

Question35:-The time interval between invasion by an infections agent and appearance of first sign of symptom of the disease in question

X @MW BRWOM EBVGAMAJ @REY LIBUMOTIOR (@LEH Cmla)Bs MAW Mseas

A:-Latent period
agleovclasm soeisal
B:-Generation time
BNMEOHUM VAo
C:-Communicable period
@Ruealrlaw @eiwaal
D:-Incubation period
DM HEENIHUM HoIsOT
Correct Answer:- Option-D

Question36:-In primary sedimentation in sewage treatment a certain amount of fat and grease rise to the surface and is known as
oellmeel msrpeemaiesl @ondls ErAIBlyowlcd 6@ dlunle eraalcd O0gajo Wy gaidlmeiovilcelss @D, o) @RClOgMMT@

A:-Sewage
oellmezele
B:-Sullage
aueged’
C:-Scum
D:-Sludge
©.alsll
Correct Answer:- Option-C
Question37:-Which of the following vaccine is not giving at birth?
©@069aJ0QIMARIEE GO QEID @REN LNMIVAOD MDBEH:OCOO?
A:-BCG
snflondled]
B:-Measles
@060l
C:-OPV
a.all.all.
D:-Hep.B
&anal.enil
Correct Answer:- Option-B
Question38:-Malaria is a disease caused by
262I5l® ag)im EEIWe DENRIB:AIIM DSBS B0@6Mo
A:-Fungus
oMY’
B:-Bacteria
ol
C:-Parasite
morasysum)g
D:-Virus
OeQIOMY
Correct Answer:- Option-C
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Question39:-Source of infection in Weil's disease
QUMY CEINOTIOMO @REMMIDWQSS OOAlSe
A:-Urine of cat
J2lQeS GO
B:-Urine of the rodents
ageleses g@o
C:-Urine of dog
MIVYOS PO
D:-None of the above
QG AlOFOMAIOWIMRAGY
Correct Answer:- Option-B
Question40:-Eligible couples are in the age group
CINYEIW BNITBEOS (JODalBluwl
A:-18 - 45
18- 45
B:-18 - 30
18 - 30
C:-20 - 55
20-55
D:-20 - 60
20 - 60
Correct Answer:- Option-A

http://192.168.1.6/dept/modules/marklist/answe...

Question41:-Which of the following vaccine is introduced recently in national immunisation programme to prevent severe pneumonia in infants?
Wiesmdoal &30 MEame @sQMGINI] 63ullw @allesw e:omviladia] alrLolwlcd @ogomies @oaimdlafla alglad el jogmaiaicd aR©®06m?

A:-Rotavirus
€056 QIOMY

B:-Pneumococcal
mécmoccs:omwa

C:-Meningococcal
OAMTENIEH0HDD

D:-Rubella
Qeenigy

Correct Answer:- Option-B

Question42:-The sites of the body most commonly affected in occupational cancers are

I.  Skin

Il. Bladder

Ill. Blood forming organs
IV. Brain

0®¢10301000@ ERAMBEBEIT oBQAe MIWIEEM@OD EnDWIERM REIERINEERUS gAIIEM

I, ademe

Il.  goavemi

. eemo @alqigm @RAIAIERECE
IV. @eeapd

A:-land Il
Il

B:-Il, lll and IV
I, 1, v

Ce-l, 11, IV
1L v

D:-l, Il and 1l

1,1,

Correct Answer:- Option-D
Question43:-Indications for prenatal diagnosis
@roaemle gmss ceINMIREMOIRSS MYalMd@:ud

A:-Advanced maternal age
Qllojeino® M@ @OWe

B:-History of congenital anomaly
LMY BRAIHOQYSS ;:J(O’l@o

C:-Both (1) and (2)

(1) 20 (2) 6o

D:-None of the above
QBHEI AOFODAOQITRREY

Correct Answer:- Option-C
Question44:-Vit. *"B_1"" is also known as
alg ""B_1"" @ agmee @ocloeqsme

A:-Thiamine
©wodflad

B:-Riboflavin
Alesnioeagallad

C:-Pyridoxine
afldleawogilad

D:-Niacin
alomilad

Correct Answer:- Option-A
Question45:-The family welfare programme is
B:Go6NICBHD al@lnldS] BT

A:-State Sponsored Programme
6qRg’ eryoeMemud’ EjoWoe

B:-Women and Child Care department sponsored programme

QM@ UBlR TVESUEM Qldia] ETYIEBMVAB 6219 EJIWI
C:-Centrally sponsored programme
c;(e,@onﬂr%@ GO0
D:-None of the above
AHEI alOFDAUOWITRREY
Correct Answer:- Option-C

Question46:-Which of the following is false regarding polio?

Galogle@oQROD]l cNIMWeals BMlajoQMARIT® g emg?
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A:-Acute viral infection caused by RNA virus
@RBahBag) HOQOMY RIGENRIE:MN «m(ﬂ,‘gg“ OOQIOD3 @EMOENIOW
B:-Oral polio vaccine is killed or inactivated one
0@ Galoglewd AT BEeS OBIUHEWI mldeeflanoessew £.21QM0
C:-Immunisation is the sole effective means of preventing poliomyelits
mmogﬂcmm@s}meﬂg‘ﬁ,uﬁ OSQMTIPES afd a0LIJERID BIBYAM TIEEIW GOBIaIa]
D:-Finding and reporting children with acute flaccid paralysis
@SS af80milal’ ale00eN®RSs Slee8 HeMoDl Gleaods eagan
Correct Answer:- Option-B
Question47:-Airborne disease is all except
adlos 200510 QQANR)eSs ale:@me.
A:-Covid - 19
eooallawy - 19
B:-Hepatitis A
6a0ai0eQFITY af)
C:-Measles
@PERUoalm]
D:-Chicken pox
allenad eatogy
Correct Answer:- Option-B

http://192.168.1.6/dept/modules/marklist/answe...

Question48:-The continuous scrutiny of all aspects of occurence and spread of disease that are pertinent to effective control is
A021eJAn0® MIREEMAY2IW M3 ERINEBRESS MRAIAIE:ITIETINRYo AUPAIMOTIORQ (g0 AURBREHSRY DSBYWIW MO IBIELILM@IET

A:-Surveillance
aldlegeme

B:-Quarentine
BI000ODD

C:-Isolation
6Q6aJSOd

D:-None of the above
HE@W Al0OMAIOWITBAL)

Correct Answer:- Option-A
Question49:-False about ""H_1IN_1"":
T"H_IN_1"" om exdlges eog

A:-Pandemic influenzae.A 2009
amewale; BegaIndmy ag 2009

B:-Live attenuated influenzae vaccine is effective
06010l @ogmeIga’ @ﬂﬂnﬁmn&m) Q@8 anele)eaem’

C:-All the above
ABHEI alOFDAUOWEII0

D:-None of the above
G AlOFOMAIOWIMRRGY

Correct Answer:- Option-C
Question50:-Which of the following is not a Zoonotic infection?
DMaj0QINAUIRIEE a@@o6NY MYEMISIS @REMENIOW @REPOD®Y?

A:-Rabies
oosnflny’

B:-Typhns
©6Sanmdmy’

C:-Brucellosis
Eemoegiomimy

D:-Covid
ed00flowy

Correct Answer:- Option-D

Question51:-Neurotoxic envenomation may cause ptosis, dysphagia, diplopia and respiratory failure by which snake bite
mécoatzso@’la; ag)BOAUEMICAUM, alegomilay, callmyouie, alleapafl@, aomi a;sﬂ@mx{gsngo\ﬁ;rm QITNVM lEIBWo gAY $HIEEMAICWER I

A:-Cobra
@HOENY
B:-Viper
©60Iad
C:-Both (1) and (2)
(1) 20 (2) 6o
D:-None of the above
QABHEIW AlOFDAUOWIMOREY
Correct Answer:- Option-A

Question52:-The disease which were previously easily controlled by chemotherapy and antibiotics, but now they have developed antimicrobial

resistance and are often appearing in epidemic forms
Qi &l 00a]Qe @RMlenIE@og]
alflGadge ald@aJAW] @GaEREIM OISO,
A:-Emerging disease
OWAMOQUBM EEIW.
B:-Endemic disease
agMBeawales ¢EIU6
C:-Remerging disease
aflenge p@BMEAIBAN EEOW.
D:-None of the above
AHEB alOFDAUOWITBREY
Correct Answer:- Option-C
Question53:-Sexually transmitted disease
6621oUT BRI ald:@MM I
A:-Gonnorrhea
©U0eEMCIw
B:-HIV
agf)al-©ag).all.
C:-Condidiasis
eaoenElauslomilony’
D:-All of the above
2@ AlOOMAIOWEIe
Correct Answer:- Option-D

S OaleoUila] n@gcﬁ«mﬂmﬁ @@ 5l@Bm 0D 6eI., afIMITE el @A @RMAIPeREGINIRG ileEows mﬂ@:mﬂ«ﬁegg@v@aﬁ,
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Question54:-Which one of the following is true regarding Leprosy?
B:03EE0NQY20D UTWEJS DWlajoQMAEIT ogmosm?
A:-Caused by Mycobacterium tuberculosis
6£62EHMNIIREDo sg;mdcescemmﬂrm“ Qel 9880
B:-Involves skin and nerves
2RI FOOMYHGo DUBOQIFIMA
C:-Involves lungs
(RITVEHIW0 DUIOAIFITN
D:-CBNAAT test is a diagnostic test
CBNAAT esqy em cwv@eunoqyle; esqyoeny
Correct Answer:- Option-B
Question55:-An acute disease characterised by muscular rigidity which persists throughout iliness punctuated by painful paroxysmal sposms of
voluntary muscles
ampeid @;odlmyenied muicoal ruallewaamdgss 8 MBI ., DO @RMYaICTISTIg Mleimlcasme. agaEdl amlEmMIMBe0 CUBMIRMEAIW aDEEIFITYES ETYITVALMVIM
@I6MAIH:.
A:-Rabies
ooenflany’
B:-Tetanus
6)5(3(‘0(‘(‘5
C:-Plague
Gqyuy
D:-Small pox
iyl
Correct Answer:- Option-B
Question56:-Hydrophobia is an acute, highly fatal viral disease of Central Nervous System caused by Lyssa Virus type, which of the following is true?
£6a06(WIEN6NTQ ahaM@ Bl EEAOMS ®. PRIPENTRIBM HMVMBEE Moslanimunges Mludlemaj 29RE:ARIW EOAIO® 6L, Mlajo@MAIE BT Uodl?
A:-Immunisations have no role
QTIEEIW EOTIWa B W36 8@ alBalg
B:-Also known as tetanus
£SQMAY af)Mo @RCIWEIGM
C:-Transmitted by bite or scratch by an infected animal
€I NIOWla] GUo B>SIE4J0 EalDOERID AldBMD
D:-Drug are available to treat the disease
€I allalonilendnd ammoeud alrymoe
Correct Answer:- Option-C
Question57:-A protozoal disease caused by infection with parasites of the genus plasmodium and transmitted to man by certain species of infected
female anophelons mosquito which of the following is not true?
0emROIe BRMIIeRI lEOMERIEHE:U3 PRIPFNRIG:MM BTG G@IBSIETVINIM ERIW., MlaloQMAIRI®S ag@oeny tdlwey?
A:-Three stages; Cold stage, hot stage and sweating stage
Q' eaISERUS, @EMOED caige, 488 *ale, AlAa] caige
B:-The parasite undergoes 2 cycles of development
alemMEeRog 2 alle:aum al@rudes allewnosme
C:-Plasmodium vivax has the widest geographic distribution through out the world.
CROBHOHAMIIFASES aBQQYe Qlltedeino® @aluedmyaleao@ al®mesmacsy
qoempocuilae allanglmeesoy

D:-Incubation period is 1 year
OMBBEENIHMB Hoeisal 1 cidaunosm’
Correct Answer:- Option-D
Question58:-Pathogens frequently identified in children with acute diarrhea in treatment in developing countries
allemie eomymEsgleon alselonala Mlwlo adlemgss S:Sleald ceN®IdleU alvlane] dldlydloeaqgmm
A:-E.Coli
0. eH08]
B:-Rotavirus
€0050OQI0MY
C:-Vibrio cholerae
allenflewo esos0
D:-All of the above
BHEI®W A0SV
Correct Answer:- Option-D
Question59:-Which of the following is not included in surface water?
DTlaj0QMAIRIEE a@moeN paidlmeal BeiEwicd ©uBeqSICm®Y?
A:-Impounding reservoirs
2RIMVREEMIBU allsle qgen@d
B:-Springs
aflousny
C:-Rivers
mEleud
D:-Ponds and lakes
\ﬁg@&ﬂ‘l’ien @SO@:EE‘BEn
Correct Answer:- Option-B
Question60:-All of the following are diseases caused by Aedes mosquitoes except
@96 alOQRINAUODEIe VDALMY OBIDEHHUY GRIPETBISN GRINEBBSIET.
A:-Yellow fever
2601
B:-Dengue
Ol
C:-Malaria
[H=Te1l)
D:-Chikungunya
aflesmorio
Correct Answer:- Option-C
Question61:-Which of the following is known as kidney hormone?
I. VitA
Il. Vit.D
1. Vit.K
IV. Vit.C
DMloj0QMAIRIEE Gl €a00dER06M afaNGIWOSMGY a@@oem?
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I.  VitA
II. Vit.D
I Vit.K
IV. Vit.C
A:-land Il
I,
B:-lll and IV
i, v
C:-lll only
1l 20@0
D:-Il only
Il 20@o
Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question62:-Typhoid fever is the result of systemic infection mainly by S.typhi, which of the following is not

true?

@Wwomaoe S.typhi alges animinineecm @REMMIWRQOS a0eIA EOSEANITW aldl, Moo «g®oen ElwePOm®?

A:-Rodents are the only known reservoir of infection
@REMENIDWQRSS BRI BEEEWIM FlTuden@A agele.gosm’
B:-Enteric fever includes both typhoid and paratyphoid fever
ag)BesAlss adlucled ©8SEa00IW, aEIeeSEaoiw adlaid agarilal 9udeaqgam
C:-The disease may occur sporadically, epidemically or endemically
6RO MDSPIOSEWI aldB 5JAPUWIBSICWI (@OEBUEIHA0CDO DERICDENIo
D:-Typhoid fever is transmitted via the faeco-oral route or urine-oral route
6656000 ol ©aNEI-800@ AIFled QAIM-600@3 USIERO @RS ald:IM@
Correct Answer:- Option-A
Question63:-DDT is
DDT agamomd
A:-Stomach poison
awdleal allaso
B:-Fumigants
nném'lwr@gaoﬁ
C:-Natural contact poison
auIEdAlE: mumIdes Qflatie
D:-Repellents
chHg(gng@,ué
Correct Answer:- Option-C
Question64:-Recovery phase after disaster
I. Rehabilitation
Il.  Reponse
Ill.  Reconstructions
IV. Preparedness
BEMOTIM LRSS AllMmIET QIS
. aymewlanme
. @oleeeme
Il aymamidenosmeanud
V. ogoeogal
Al = 1l =l
I=11-11
B:-ll = IV -1l -1
=1V -ll-1
C-IV-ll=1-11
IV-Ill-=1-11
DIl =11l
IH=1-101
Correct Answer:- Option-D
Question65:-Byssinosis is a lung disease caused by long period of time inhalation of
Aldcaiemee @ LIMIEBM@IRIOS DENRIE:MM BT WBIITVESHIUD CRIVIAIET eeeIMSleMomilmy
A:-Silica
avlellan
B:-Cotton fibre
GBI O&aneNIA
C:-Sugarcane dust
&Amile® ealns
D:-Asbestos
@RYIYEQOMY’
Correct Answer:- Option-B
Question66:-Kangaroo mother care is a term related to
OO BN 2GA HBWA afM lEQY2IW NIMWOSIElEBMT
A:-Breast feeding
QeiRs®
B:-Vaccination
Qglemaum
C:-Intensive care
OlQal@al@6Mo
D:-Orphan supportive programme
@RMILNO® allEEMPM EajoWde
Correct Answer:- Option-A
Question67:-Barrier methods used in contraception are all except
adlod 1ARMIGEIWM 20dQEEREIEM.
A:-Copper T
6B0qyd Sl
B:-Diaphragm
W®@go
C:-Vaginal Sponge
QUOEBMES GTVo6Dl
D:-Condom
G I6MBo
Correct Answer:- Option-A
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Question68:-Fats should contribute how many percentage of energy intake in Indian Dietary
AN RALEINGATTI®D af)@ LODIMo OVABLR OalCRIW. ma,oqu@@ MVLEOAIM 6).aIQ6Mo

A:-10 - 15%
10-15%

B:-15 - 30%
15-30%

C:-50 - 80%
50 - 80%

D:-30 - 50%
30 -50%

Correct Answer:- Option-B
Question69:-Deficiency of Vit.C results in
oo all. 1l Qes &l &OeEMe HBINRIE:MD

A:-Rickets
o%eagee,uﬂ

B:-Pellagra
algj)

C:-Scurvy
ayadal

D:-Xerophthalmia
6©TVEN0aGITAI

Correct Answer:- Option-C
Question70:-Side effects of intrauterine devices are
NARIOW DaldHEEMERSOS aloB@UolaNRIERUY

A:-bleeding
OBOEYI

B:-pain
cQBM

C:-pregnancy
[OIGI

D:-all the above
ABHEI AlOFDAUOWEII0

Correct Answer:- Option-D
Question71:-Vitals are
I.  Blood pressure
Il. Pulse rate
Ill. Respiratory rate
slaigwomgssal
l.  eemTmdg.

I, aday dless
I, veicrom mless

A:-land Il
(]

B:-1l and I
11, 1l

C:-I, Iland Il
1,1,

D:-l and lll

I,
Correct Answer:- Option-C
Question72:-First Generation IUD (Intra Uterine Device)
ame @eigo lUD (omeso 1ndcow@ Dald:eemo)
A:-Nova.T
Mmoo Sl
B:-Progestasert
GOmRIYOTUAY
C:-Copper T
60ajd T
D:-Lippes loop
afloj’ gjaf
Correct Answer:- Option-D
Question73:-Graphical representation of age and sex of a population
B BNMTVENQOS @IVOTORQ elltOTlOR@e WIdlE® @ITIMlWe
A:-Sex ratio
2flotromal®o
B:-Population pyramid
ts(uo(;fd@mnyna afleaflowy
C:-Despondancy ratio
@lE2UBO @AM
D:-Density of population
LTI
Correct Answer:- Option-B
Question74:-Which of the following is not a delayed cause of deaths in hanging?
®269a]0QIMAIVIEB BN BEFAGEIMNSS SORIMIATV AUGBOTIDDD ?
A:-Infection
@1o6Mo6NIoU
B:-Venous congestion
QMM BUHM
C:-Abscess of brain
©RICa0loR! &:@3
D:-Hypoxic encephalopathy
60a0CAOFB 0f)BOTVA0ERID
Correct Answer:- Option-B
Question75:-In partial hanging which is acting as constricting force?
U H20Q BEHO@®IRIRIG AR TVES.2IRSTIWIRS (dooilesamo?
A:-Weight of body

w@le @
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B:-Weight of hanging object
sesleigm amgoled @0
C:-Weight of head
@RIQeS B
D:-None of the above
QG AlOFOMAIOWIMRAG)
Correct Answer:- Option-C
Question76:-Constriction of the neck by a ligature without suspending the body is known as
w0dlee @&Vl BB GHQE OB PaIBIUTl4] BT HEM@EBMDIIOM @RGSO
A:-Strangulation
BHYTOOC| 3] OB
B:-Hanging
T&5le )@
C:-Suicide
@RYODODY
D:-Smothering
WRINMVo YS@B
Correct Answer:- Option-A
Question77:-Which of the following is caused by blunt trauma?
06 aI0QIMAIRIEE a@@ENT 6RIIBAL ESIR0 RIYEROSMD?
A:-Incised wound
qdleaig gdlal
B:-Abrasion
D@aflayeud
C:-Contusion
OBIMBGaHMD
D:-Stab injury
BCODQ @S
Correct Answer:- Option-C
Question78:-Margins are smooth in following type of wound except
©269oJ0QMAIcE BemIsles Poleges @ocledud adamumodammos

A:-Incised wound
eaiesg golal
B:-Lacerated wound
#ldle galal
C:-Stab wound
&6OmQ galal
D:-None of the above
AHEB alOFDAOWITRREY
Correct Answer:- Option-B
Question79:-Puppe's rule is used in related to what
alo]@es mloae agilmacw smweasidesm
A:-Lightening
dlom@d
B:-Burns
£alo88®d
C:-Knife Injury
SO golar
D:-Bullet Injury
nI88g aldles
Correct Answer:- Option-D
Question80:-Chlostridium botulinum is related to which of the poisoning
egomglaui@o asniogellme ag® allauniowQaow] cmimuensidlasmm
A:-Drug poisoning
2QEBAGB QflaHenIow
B:-Food poisoning
camOflavienIow
C:-Snake bite
alom] &Sl
D:-None of the above
HEI@W AlOFOMAIOWITRALY
Correct Answer:- Option-B
Question81:-Exposure to cold produces hypothermia when the oral or axillary temperature is less than
anoleesewd &exllwend @R Moaimlal @@ mlar. e:oawldlencmioud @snaqdmm)’l aLMIBEDo JRIBEDIMT HONGAO®AAI DenNoERMo.
A:-37°C
37°C
B:-36°C
36°C
C:-37.5°C
37.5°C
D:-35°C
35°C
Correct Answer:- Option-D
Question82:-High quality chest compression include
2@AM MlannEgss ©aly GoajUm T @rMIEEM
A:-Allowing full chest recoil
QU8 ea1qy Slesowflmd @rmEkesm
B:-At the rate of 140 - 160 compression per minute
dlodigled 140 - 160 @rolajosiad agam emowl@d
C:-A depth of at least 3 inches for an adult and child
AOIRMAIBER. BGlERe GO 3 Dl @Yo
D:-All of the above
P (RN TeTON =T
Correct Answer:- Option-A
Question83:-Sudden cardiac arrest is
BalOMoss @e@«go@mo
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A:-Cessation of electrical activity of heart
2OBRETIOR OOAUBKD JAIBEBM. MBCmeoERD
B:-Cessation of mechanical activity of heart
OBOTOR HAMIMILT (JUBGDM.
C:-Both (1) and (2)
(1) 20 (2) eego
D:-None of the above
AHEI alOFDAIOWITRREY
Correct Answer:- Option-C
Question84:-Adult chain of survival for out of hospital cardiac arrest
I.  Immediate recognition of cardiac arrest and activation of emergency response system
Il. Early cardiopulmonary resuscitation
Ill. Effective advanced life support
IV. Rapid defibrillation
V. Integrated post cardiac arrest care
BT JOOT aYBRIY.MOTIlnes Er@lElamomen galdmames el
I ape@myerm. osMsl Eldladlnen. @RSImE @TIe:EMm Malwame MEALIEBE . O.aIQs:
Il. emescmQes B:0duwWlewInludeacsmal ajm@eedlaime
. apeieER0® @RALIMBIVAW eIl VGRS
V. go aladignfieaiauad
V. OBEWQUW EaldTY SHIBWIIB @ROTY HHWA

AL LN, IV, V
AL LV, V

B:-I, I, IV, 1II, V
L1, v, LV

C-llL LI, IV, Vv
I, LNV, Vv

D:- 1L IV, VT
LUL IV, VI

Correct Answer:- Option-B
Question85:-Life threatening allergic reaction which may manifest in some people who are very sensitive
Qgee emummidian® aflel m@g.ﬁ;@%ﬁ (@HSBOEQEHIYM HIMB ERABSOSEDM @rIBHE (Joild:eemo
A:-Septic shock
©VAIGleY Gasioes”
B:-Neurogenic Shock
mécosesaﬁﬂa: GaHOES
C:-Anaphylactic shock
@RMIOOADLIGE GauIES
D:-Toxic shock syndrome
6SOGlH; Gauds) milmeawoe
Correct Answer:- Option-C
Question86:-The type of fracture in which bone breaches the overlying skin is
g eeoviaes eslalane aggllay gegleal admecm algdesanay
A:-simple
aigloo
B:-compound
MUo@BDo
C:-Comminuted
6.21QOIQTY
D:-Contrecoup
GO Gal
Correct Answer:- Option-B
Question87:-Which artery is palpated to perform a pulse check in the adult during CPR?
CPR cva@ony gafldmaidlod a3y al@lewoowm msomom ogo waml@osm ayalesana?
A:-Carotid Artery
&EESIU @RASOl
B:-Brachial Artery
@0l @rASA
C:-Radial Artery
coWl®3 @RASOl
D:-Axillary Artery
S Wamleud
Correct Answer:- Option-A
Question88:-If a single rescuer is available during the initiation of CPR what should be the compression ventilation ratio
CPR @n)@oElasm mua@on 8600Q odue:d QIRMA0606MERIDE dollatd eaIfleaiatnd @pMalomoe afmol@l@eme?
A:-15:2
15:2
B:-30:4
30:4
C:-30:2
30:2
D:-15:4
15:4
Correct Answer:- Option-C
Question89:-While doing CPR in infants (K 12 months) the chest compression depth should be
Wemgl (K 12 aom.) CPR ©aIQEMNIUD BTy Bl UBOO @Yo
A:-1.5 inches
1.5 eoerar
B:-2 inches
2 el
C:-1inch
1 eoerml
D:-0.5 inch
0.5 et
Correct Answer:- Option-A
Question90:-Which is true about respiratory arrest?
I.  Absence of respiration
Il. During respiratory arrest in early stages the victims pulse wont be palpable
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IIl. During respiratory arrest initially, the victim has cardiac output
IV. Cardiac arrest may develops if rescue breathing is not provided
PRIVDSTYe TVENINUWla] @@ (odI?
I irvmenied @oeoai
Il weirvm @roqy Mvawory
. @seronicd wnrLSTYe PENROGEMINNS, SDEY AYBWINLIM. DEMRIG:
IV. ees0 voirume madelologslad agr@myeeme
A:-All are correct
ag)gfoe WEI@OEM

B:-I, lll and IV are true
1, 1M1, IV agomilar ve@l@osmy’
C:-l, Il and IV are true

I, I, IV agarilar ve@laosry
D:-l and IV are true
| 90 IV 90 vo@l@osy
Correct Answer:- Option-B
Question91:-Biochemical oxygen demand and chemical oxygen demand are the terms used to express the strength of what
MICRIOHAB BIGIRMD Wlaomday, 6ealen® GG alamal sl el wesl @®Sla]lenom PaleIUlERM alcsERgeY
A:-Sewage
oeimezele
B:-Sea water
HST OQUSBo
C:-Sullage
moeflmye
D:-None of the above
AHEB alOFDAUOWITRREY
Correct Answer:- Option-A
Question92:-The health hazards of improper excreta disposal are
060 B @@ lauy WM gelo PENBIGM’
@GO @A lESEBRUB
A:-soil pollution
o6y oellaileeeme
B:-contamination of food
caemovileal aalmle:e6mo
C:-propagation of flies
ADQEYBHSOS HalgPalBHD
D:-all of the above
QHE@D Al0ODAIOWEIe
Correct Answer:- Option-D
Question93:-Trickling filter method is used in
Slesiloty) adl@dsd Paleouilesam AloleOw aloQmM@
A:-Primary treatment of sewage
2eflmmeiowion @ondle memyesme
B:-Secondary treatment of sewage
oefllnmeiowie clole mu.myeeme
C:-Oxidation ponds
Bogleaud B:amud
D:-Sewage farming
oeflmezel gal
Correct Answer:- Option-B
Question94:-Disinfecting action of chlorine in water is mainly due to
eaigsoTilenl ef0I8 @REMANJBMAIEBIM JAUBTMMo @WIMAIRe BOBEMAIBMT®
A:-hypochlorile ions
£6a0EIEHIOEODT @OEWIETOBUB
B:-hypochlorous acid
66a0EGAICGHIOMY @RI’
C:-chloride
CHIOOOUY
D:-hydrochloric acid
66a0(WIEHICIE @MUY
Correct Answer:- Option-B
Question95:-The difference between the amount of chlorine added to the water and the amount of residual chlorine remaining at the end of a
specific period of contact is known as
6ISSOTI@3 6aIBEBM eHICIND @RS BB @EMiH MMIAE HIILEAl® @PAMIMEBITE @R cUERIM egHIGIM EPEN. ®adle)ss AP @RIV FIMEY
A:-Break point
GENE Galofla’
B:-Chlorine demand
600l cullaondeuy
C:-free residual chlorine
MO @RAIBY GHHIAID
D:-superchlorination
MyajBegpociemauad
Correct Answer:- Option-B
Question96:-Chemical formula for bleaching powder
6Qflafloty ®ardWClREE 6BAlE® canodgel
A:-"CaOCl_(2)"

*CaoCl_(2)°
B:-CaCl_(2)°
*CaCl_(2)
C:-"cao_(2)c’
*Ca0_(2)Cl'
D:-*CaOCI®
*CaOCl®

Correct Answer:- Option-A
Question97:-Process whereby nutrients are added to food to improve the quality of the diet is known as
BAUMOTIOR LEMTIRINNE. HRAYOIFEDMGIMIW] EEHEMNOTIT GaldUBHERUS aIBBM JSI® @RAIWegMT
A:-Nutrification of food
@msmrmﬂa)@ CaldaHBHIaNI@o
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B:-Food fortification
QW Gand@sladleanauad
C:-Adulteration of food
REHEMOTITD DOWo EaIBH@D
D:-Pasteurization of food
BHUMNOTIOR M alOSOETIAHUMD
Correct Answer:- Option-B
Question98:-Viper produces
660lnjd 2O aodla]lesme
A:-Neurotoxin
mécoocss@’lnﬁ
B:-Haemotoxin
asleo6soglad
C:-Myotoxin
2eIESIGIM
D:-All the above
ABHEI®W A0SV
Correct Answer:- Option-B
Question99:-Bangalore method is used in
GT).IOe(OI“?(ﬁ Aol OO Palewouilanmo
A:-Dumping
Woallear’
B:-Incineration
Goblaflen@d
C:-Composting
BCUOqlot
D:-Burial
uamm:on'go@o
Correct Answer:- Option-C
Question100:-Which is known as the heart of the activated sludge process?
ugdlamossio acallmy ES®es «9Be aMdleagima?
A:-Aeration tank
QIOQYTVEDIIO SO
B:-Sedimentation tank
emuilonc@eud soss’
C:-Sludge digester
RWE eewsqyad
D:-Oxidation pond
BOGIEAaUB B:8o
Correct Answer:- Option-A
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